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Q.1 Select the most appropriate meaning of the given proverb.

Let sleeping dogs lie.

Ans A. Dogs should be left to sleep.

B. Wake up dogs when necessary.

C. Sleeping dogs are harmless.

D. Don’t disturb a situation that is currently peaceful.

Question Type : MCQ

Question ID : 6306801046036

Option 1 ID : 6306804106228

Option 2 ID : 6306804106230

Option 3 ID : 6306804106231

Option 4 ID : 6306804106229

Status : Answered

Chosen Option : D

Marks : 1

Q.2 Select the most appropriate pair of homonyms to fill in the blanks.

As the __________ settled over the landscape, she used a _________ to sweep the leaves from
the porch, creating a clear path through the foggy morning.

Ans A. broom; brume

B. brume; brume

C. broom; broom

D. brume; broom

Question Type : MCQ

Question ID : 6306801058348

Option 1 ID : 6306804155763

Option 2 ID : 6306804155766

Option 3 ID : 6306804155764

Option 4 ID : 6306804155765

Status : Answered

Chosen Option : D

Marks : 1
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Q.3 Select the most appropriate proverb that would fit the given situation.

Great things do not happen overnight.

Ans A. Pride goes before a fall

B. Patience is a virtue

C. Rome wasn't built in a day

D. Procrastination is the thief of time

Question Type : MCQ

Question ID : 630680764688

Option 1 ID : 6306802997281

Option 2 ID : 6306802997282

Option 3 ID : 6306802997279

Option 4 ID : 6306802997280

Status : Answered

Chosen Option : B

Marks : -0.25

Q.4 Select the INCORRECTLY spelt word in the given sentence.

The revelation of quantam mechanics brought about a transformative paradigm in the

domain of physics in the early 20th century.

Ans A. quantam

B. transformative

C. revelation

D. paradigm

Question Type : MCQ

Question ID : 630680803903

Option 1 ID : 6306803149464

Option 2 ID : 6306803149465

Option 3 ID : 6306803149463

Option 4 ID : 6306803149466

Status : Answered

Chosen Option : A

Marks : 1

Q.5 Select the option that expresses the given sentence in indirect speech.

The mechanic said, 'I can fix your car by tomorrow'.

Ans A. The mechanic said that he could fix my car by tomorrow.

B. The mechanic said that he could fix my car by the next day.

C. The mechanic said that I could fix your car by the next day.

D. The mechanic said that I could fix your car by tomorrow.

Question Type : MCQ

Question ID : 630680805983

Option 1 ID : 6306803157597

Option 2 ID : 6306803157596

Option 3 ID : 6306803157598

Option 4 ID : 6306803157599

Status : Answered

Chosen Option : A

Marks : -0.25
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Q.6 Select the option that expresses the given sentence in indirect
speech. 

"I will go to the store tomorrow," she said.

Ans A. She said that she will go to the store tomorrow.

B. She said that she goes to the store other day.

C. She said that she could go to the store tomorrow.

D. She said that she would go to the store the next day.

Question Type : MCQ

Question ID : 630680528636

Option 1 ID : 6306802066554

Option 2 ID : 6306802066555

Option 3 ID : 6306802087187

Option 4 ID : 6306802066553

Status : Answered

Chosen Option : A

Marks : -0.25

Q.7 Select the most appropriate idiom that can substitute the underlined segment in the given
sentence.

He started doing something with great enthusiasm, eager to prove himself in his role.

Ans A. hit the ground running

B. was dead set against something

C. cut his losses

D. shouldered the burden

Question Type : MCQ

Question ID : 630680629305

Option 1 ID : 6306802463304

Option 2 ID : 6306802463302

Option 3 ID : 6306802463305

Option 4 ID : 6306802463303

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Marks : 0

Q.8 Select the most appropriate option to fill in the blank.

The ceremony was held in the ________________ halls of the historic
palace, adding to the sense of grandeur and importance.

Ans A. austere

B. august

C. arid

D. awkward

Question Type : MCQ

Question ID : 6306801055991

Option 1 ID : 6306804146474

Option 2 ID : 6306804146477

Option 3 ID : 6306804146476

Option 4 ID : 6306804146475

Status : Answered

Chosen Option : C

Marks : -0.25
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Q.9 Select the most appropriate preposition to fill in the blank.

She is interested _____ learning Spanish.

Ans A. for

B. at

C. in

D. on

Question Type : MCQ

Question ID : 630680733809

Option 1 ID : 6306802876063

Option 2 ID : 6306802876062

Option 3 ID : 6306802876060

Option 4 ID : 6306802876061

Status : Answered

Chosen Option : A

Marks : -0.25

Q.10 Select the most appropriate ANTONYM of the given word.

Torture

Ans A. Gall

B. Pleasure

C. Trial

D. Downer

Question Type : MCQ

Question ID : 630680732431

Option 1 ID : 6306802870513

Option 2 ID : 6306802870510

Option 3 ID : 6306802870511

Option 4 ID : 6306802870512

Status : Answered

Chosen Option : B

Marks : 1

Q.11 Select the most appropriate option to fill in the blank.
I ______ a shock when I _______ myself this morning.

Ans A. got; was weighing 

B. get; weighing 

C. got; am weighing

D. am getting; weigh

Question Type : MCQ

Question ID : 630680158067

Option 1 ID : 630680611796

Option 2 ID : 630680611797

Option 3 ID : 630680611798

Option 4 ID : 630680611799

Status : Answered

Chosen Option : A

Marks : 1
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Q.12 Select the most appropriate option to substitute the underlined word in the given sentence.

The city’s infrastructure needs to be updated to keep up with the actual population of New
Delhi, which continues to expand rapidly.

Ans A. the perpetual

B. the ongoing

C. the declining

D. the current

Question Type : MCQ

Question ID : 6306801057246

Option 1 ID : 6306804151398

Option 2 ID : 6306804151395

Option 3 ID : 6306804151397

Option 4 ID : 6306804151396

Status : Answered

Chosen Option : B

Marks : -0.25

Q.13 Select the most appropriate option to fill in the blanks.

After an intense audition, Mariana landed a role in a blockbuster fi lm, earning ______
admiration of ______ critics and becoming a household name.

Ans A. the; the

B. no article; the

C. the; a

D. an; the

Question Type : MCQ

Question ID : 6306801047067

Option 1 ID : 6306804110385

Option 2 ID : 6306804110384

Option 3 ID : 6306804110383

Option 4 ID : 6306804110382

Status : Answered

Chosen Option : D

Marks : -0.25

Q.14 Select the most appropriate ANTONYM of the underlined word.
Her behaviour was reckless in the extreme.

Ans A. Prudent

B. Wild

C. Faithless

D. Daring

Question Type : MCQ

Question ID : 630680684030

Option 1 ID : 6306802678871

Option 2 ID : 6306802678870

Option 3 ID : 6306802678873

Option 4 ID : 6306802678872

Status : Answered

Chosen Option : B

Marks : -0.25
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Q.15 Select the most appropriate ANTONYM of the underlined word in the given sentence.
Why the corona is millions of degrees hotter than the sun’s actual surface is one of the
enduring mysteries about our star.

Ans A. Grieving

B. Temporary

C. Helpless

D. Enchanting

Question Type : MCQ

Question ID : 6306801148026

Option 1 ID : 6306804512204

Option 2 ID : 6306804512203

Option 3 ID : 6306804512202

Option 4 ID : 6306804512205

Status : Answered

Chosen Option : B

Marks : 1

Q.16 The following sentence has been split into four segments. Identify the segment that
contains a spelling error.

They decided to dine at the new restuarant on their anniversary to relish gourmet cuisine.

Ans A. They decided to dine

B. to relish gourmet cuisine.

C. at the new restuarant

D. on their anniversary

Question Type : MCQ

Question ID : 630680714440

Option 1 ID : 6306802799407

Option 2 ID : 6306802799410

Option 3 ID : 6306802799408

Option 4 ID : 6306802799409

Status : Answered

Chosen Option : B

Marks : -0.25

Q.17 Select the most appropriate idiom that can substitute the underlined segment in the given
sentence.

I tried my best to forget whatever happened and ultimately, overcame him.

Ans A. put my foot down

B. washed my hands of him

C. got the better of him

D. stood my ground

Question Type : MCQ

Question ID : 630680752195

Option 1 ID : 6306802948131

Option 2 ID : 6306802948134

Option 3 ID : 6306802948133

Option 4 ID : 6306802948132

Status : Answered

Chosen Option : C

Marks : 1
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Q.18 Select the most appropriate ANTONYM of the word highlighted in bold in the given
sentence.

The lenient ways of the police towards the thief drew a lot of criticism from the public.

Ans A. Compassionate

B. Generous

C. Pleasant

D. Strict

Question Type : MCQ

Question ID : 630680805420

Option 1 ID : 6306803155366

Option 2 ID : 6306803155367

Option 3 ID : 6306803155365

Option 4 ID : 6306803155368

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Marks : 0

Q.19 Select the most appropriate option to substitute the underlined word segment in the given
sentence.

Before heading out for the camping trip, she made sure to pack all the needed items,
including a tent, sleeping bag and cooking gear.

Ans A. all the necessaries item

B. all the necessities items

C. all the necessary items

D. all the needing items

Question Type : MCQ

Question ID : 6306801057237

Option 1 ID : 6306804151359

Option 2 ID : 6306804151361

Option 3 ID : 6306804151362

Option 4 ID : 6306804151360

Status : Answered

Chosen Option : C

Marks : 1

Q.20 Select the most appropriate option to substitute the underlined word segment in the given
sentence.

Rani is always funny to go with on spontaneous adventures, bringing laughter and
excitement to every trip.

Ans A. always fun when go with

B. always go with fun

C. always fun to go with

D. funny goes always with it

Question Type : MCQ

Question ID : 6306801057231

Option 1 ID : 6306804151338

Option 2 ID : 6306804151335

Option 3 ID : 6306804151336

Option 4 ID : 6306804151337

Status : Answered

Chosen Option : A

Marks : -0.25
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Q.21 Select the option that can substitute the underlined segment in the given sentence.

Anu ignored whatever her mom was saying and focused on her work.
Ans A. cut to the chase

B. went cold turkey

C. twisted her arms

D. ​turned a deaf ear

Question Type : MCQ

Question ID : 630680736261

Option 1 ID : 6306802885731

Option 2 ID : 6306802885730

Option 3 ID : 6306802885729

Option 4 ID : 6306802885728

Status : Answered

Chosen Option : D

Marks : 1

Q.22 Select the most appropriate synonym of the given word.

Bolster

Ans A. Weaken

B. Undermine

C. Strengthen

D. Discourage

Question Type : MCQ

Question ID : 630680805363

Option 1 ID : 6306803155151

Option 2 ID : 6306803155150

Option 3 ID : 6306803155149

Option 4 ID : 6306803155152

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Marks : 0

Q.23 Select the most appropriate option to fill in the blank. Select 'No article needed' if the
sentence does not need an article.
The Physicist made ___ innovative breakthrough in the field of quantum mechanics.

Ans A. the

B. an

C. No article needed

D. a

Question Type : MCQ

Question ID : 6306801042946

Option 1 ID : 6306804093971

Option 2 ID : 6306804093970

Option 3 ID : 6306804093972

Option 4 ID : 6306804093969

Status : Answered

Chosen Option : B

Marks : 1
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Q.24 Select the INCORRECTLY spelt word.

Ans A. Campaign

B. Biennial

C. Cavalry

D. Arraing

Question Type : MCQ

Question ID : 630680788496

Option 1 ID : 6306803089768

Option 2 ID : 6306803089769

Option 3 ID : 6306803089770

Option 4 ID : 6306803089771

Status : Answered

Chosen Option : D

Marks : 1

Q.25 Select the most appropriate synonym of the given word.

Eerie

Ans A. Common

B. Normal

C. Mundane

D. Creepy

Question Type : MCQ

Question ID : 630680732411

Option 1 ID : 6306802870436

Option 2 ID : 6306802870437

Option 3 ID : 6306802870435

Option 4 ID : 6306802870434

Status :
Not Attempted and
Marked For Review

Chosen Option : --

Marks : 0
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Comprehension:

Read the given passage carefully and answer the questions that follows:

Women have kick-started countless initiatives and organisations across the world that
nurture female coders, like Girls Who Code, Black Girls Code and Indian Girls Code.
Vandana ‘Vandi’ Verma was 11 years old when she got behind the wheel of her grandfather’s
tractor. She never imagined that someday she would navigate a rover on Mars. Today, sitting
at her desk at NASA, Verma drives, programs and navigates the Curiosity rover on Mars.
Using Artificial Intelligence, the rover takes images, analyses soil and rocks, and helps NASA
understand the planet’s past. Though Verma helps it do its job, the rover makes its own
decisions.

Verma feels robots can help humans explore alien environments. When she was at Carnegie
Mellon University in the USA, she designed many robots. What fascinated her was the way a
robot reacted to an unexpected situation. Scientists think that Mars might have had some life
form in the past, but now you don’t see any. What really happened out there? Verma would like
to find these answers, and she is busy developing systems for a Mars 2020 mission.

Fereshteh Forough didn’t like maths one bit. She had studied literature in Iran where her
Afghan parents had fled during the Soviet invasion of Afghanistan. When they moved back,
Forough got into the computer science program at Herat University. She hated the first day.
There were just too many numbers. The next day, she learnt about algorithms and she was
hooked.

After studying computer science, Forough wanted to start something that would help make
girls financially independent and more confident. She started Afghanistan’s first coding
school for women, Code to Inspire, from her apartment. Many women who study there have
never worked on a computer before. Learning a new language—that’s what coding is like for
Forough. It gives you the power to create what you want and to pass on that power to others.

SubQuestion No : 26

Q.26 Which organisation did Fereshteh Forough start?

Ans A. Indian Girls Code

B. Girls Who Code

C. Code to Inspire

D. Black Girls Code

Question Type : MCQ

Question ID : 630680803111

Option 1 ID : 6306803146483

Option 2 ID : 6306803146480

Option 3 ID : 6306803146481

Option 4 ID : 6306803146482

Status : Answered

Chosen Option : C

Marks : 1
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Comprehension:

Read the given passage carefully and answer the questions that follows:

Women have kick-started countless initiatives and organisations across the world that
nurture female coders, like Girls Who Code, Black Girls Code and Indian Girls Code.
Vandana ‘Vandi’ Verma was 11 years old when she got behind the wheel of her grandfather’s
tractor. She never imagined that someday she would navigate a rover on Mars. Today, sitting
at her desk at NASA, Verma drives, programs and navigates the Curiosity rover on Mars.
Using Artificial Intelligence, the rover takes images, analyses soil and rocks, and helps NASA
understand the planet’s past. Though Verma helps it do its job, the rover makes its own
decisions.

Verma feels robots can help humans explore alien environments. When she was at Carnegie
Mellon University in the USA, she designed many robots. What fascinated her was the way a
robot reacted to an unexpected situation. Scientists think that Mars might have had some life
form in the past, but now you don’t see any. What really happened out there? Verma would like
to find these answers, and she is busy developing systems for a Mars 2020 mission.

Fereshteh Forough didn’t like maths one bit. She had studied literature in Iran where her
Afghan parents had fled during the Soviet invasion of Afghanistan. When they moved back,
Forough got into the computer science program at Herat University. She hated the first day.
There were just too many numbers. The next day, she learnt about algorithms and she was
hooked.

After studying computer science, Forough wanted to start something that would help make
girls financially independent and more confident. She started Afghanistan’s first coding
school for women, Code to Inspire, from her apartment. Many women who study there have
never worked on a computer before. Learning a new language—that’s what coding is like for
Forough. It gives you the power to create what you want and to pass on that power to others.

SubQuestion No : 27

Q.27 What is the synonym of the word 'fascinated' from the passage?

Ans A. Interested

B. Confused

C. Bored

D. Indifferent

Question Type : MCQ

Question ID : 630680803114

Option 1 ID : 6306803146493

Option 2 ID : 6306803146492

Option 3 ID : 6306803146494

Option 4 ID : 6306803146495

Status : Answered

Chosen Option : A

Marks : 1
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Comprehension:

Read the given passage carefully and answer the questions that follows:

Women have kick-started countless initiatives and organisations across the world that
nurture female coders, like Girls Who Code, Black Girls Code and Indian Girls Code.
Vandana ‘Vandi’ Verma was 11 years old when she got behind the wheel of her grandfather’s
tractor. She never imagined that someday she would navigate a rover on Mars. Today, sitting
at her desk at NASA, Verma drives, programs and navigates the Curiosity rover on Mars.
Using Artificial Intelligence, the rover takes images, analyses soil and rocks, and helps NASA
understand the planet’s past. Though Verma helps it do its job, the rover makes its own
decisions.

Verma feels robots can help humans explore alien environments. When she was at Carnegie
Mellon University in the USA, she designed many robots. What fascinated her was the way a
robot reacted to an unexpected situation. Scientists think that Mars might have had some life
form in the past, but now you don’t see any. What really happened out there? Verma would like
to find these answers, and she is busy developing systems for a Mars 2020 mission.

Fereshteh Forough didn’t like maths one bit. She had studied literature in Iran where her
Afghan parents had fled during the Soviet invasion of Afghanistan. When they moved back,
Forough got into the computer science program at Herat University. She hated the first day.
There were just too many numbers. The next day, she learnt about algorithms and she was
hooked.

After studying computer science, Forough wanted to start something that would help make
girls financially independent and more confident. She started Afghanistan’s first coding
school for women, Code to Inspire, from her apartment. Many women who study there have
never worked on a computer before. Learning a new language—that’s what coding is like for
Forough. It gives you the power to create what you want and to pass on that power to others.

SubQuestion No : 28

Q.28 What does the phrase 'she was hooked' in the passage mean?

Ans A. She was frustrated and gave up.

B. She became addicted or deeply interested in something.

C. She was physically connected to something.

D. She was caught by someone.

Question Type : MCQ

Question ID : 630680803113

Option 1 ID : 6306803146491

Option 2 ID : 6306803146489

Option 3 ID : 6306803146488

Option 4 ID : 6306803146490

Status : Answered

Chosen Option : B

Marks : 1
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Comprehension:

Read the given passage carefully and answer the questions that follows:

Women have kick-started countless initiatives and organisations across the world that
nurture female coders, like Girls Who Code, Black Girls Code and Indian Girls Code.
Vandana ‘Vandi’ Verma was 11 years old when she got behind the wheel of her grandfather’s
tractor. She never imagined that someday she would navigate a rover on Mars. Today, sitting
at her desk at NASA, Verma drives, programs and navigates the Curiosity rover on Mars.
Using Artificial Intelligence, the rover takes images, analyses soil and rocks, and helps NASA
understand the planet’s past. Though Verma helps it do its job, the rover makes its own
decisions.

Verma feels robots can help humans explore alien environments. When she was at Carnegie
Mellon University in the USA, she designed many robots. What fascinated her was the way a
robot reacted to an unexpected situation. Scientists think that Mars might have had some life
form in the past, but now you don’t see any. What really happened out there? Verma would like
to find these answers, and she is busy developing systems for a Mars 2020 mission.

Fereshteh Forough didn’t like maths one bit. She had studied literature in Iran where her
Afghan parents had fled during the Soviet invasion of Afghanistan. When they moved back,
Forough got into the computer science program at Herat University. She hated the first day.
There were just too many numbers. The next day, she learnt about algorithms and she was
hooked.

After studying computer science, Forough wanted to start something that would help make
girls financially independent and more confident. She started Afghanistan’s first coding
school for women, Code to Inspire, from her apartment. Many women who study there have
never worked on a computer before. Learning a new language—that’s what coding is like for
Forough. It gives you the power to create what you want and to pass on that power to others.

SubQuestion No : 29

Q.29 What would be an appropriate title for this passage?

Ans A. Soviet Invasion of Afghanistan

B. The Curiosity Rover

C. Inspiring Women in Coding Technology

D. Learning a New Language

Question Type : MCQ

Question ID : 630680803110

Option 1 ID : 6306803146479

Option 2 ID : 6306803146476

Option 3 ID : 6306803146477

Option 4 ID : 6306803146478

Status : Answered

Chosen Option : C

Marks : 1
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Comprehension:

Read the given passage carefully and answer the questions that follows:

Women have kick-started countless initiatives and organisations across the world that
nurture female coders, like Girls Who Code, Black Girls Code and Indian Girls Code.
Vandana ‘Vandi’ Verma was 11 years old when she got behind the wheel of her grandfather’s
tractor. She never imagined that someday she would navigate a rover on Mars. Today, sitting
at her desk at NASA, Verma drives, programs and navigates the Curiosity rover on Mars.
Using Artificial Intelligence, the rover takes images, analyses soil and rocks, and helps NASA
understand the planet’s past. Though Verma helps it do its job, the rover makes its own
decisions.

Verma feels robots can help humans explore alien environments. When she was at Carnegie
Mellon University in the USA, she designed many robots. What fascinated her was the way a
robot reacted to an unexpected situation. Scientists think that Mars might have had some life
form in the past, but now you don’t see any. What really happened out there? Verma would like
to find these answers, and she is busy developing systems for a Mars 2020 mission.

Fereshteh Forough didn’t like maths one bit. She had studied literature in Iran where her
Afghan parents had fled during the Soviet invasion of Afghanistan. When they moved back,
Forough got into the computer science program at Herat University. She hated the first day.
There were just too many numbers. The next day, she learnt about algorithms and she was
hooked.

After studying computer science, Forough wanted to start something that would help make
girls financially independent and more confident. She started Afghanistan’s first coding
school for women, Code to Inspire, from her apartment. Many women who study there have
never worked on a computer before. Learning a new language—that’s what coding is like for
Forough. It gives you the power to create what you want and to pass on that power to others.

SubQuestion No : 30

Q.30 How did Vandana Verma get interested in machines and robotics?

Ans A. She attended a prestigious robotics competition during her school years.

B. She grew up in a family of engineers who inspired her interest in science and

technology.

C. She got behind the wheel of her grandfather's tractor at the age of 11.

D. She spent her childhood summers interning at NASA.

Question Type : MCQ

Question ID : 630680803112

Option 1 ID : 6306803146484

Option 2 ID : 6306803146485

Option 3 ID : 6306803146487

Option 4 ID : 6306803146486

Status : Answered

Chosen Option : C

Marks : 1
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Comprehension:

Read the given passage and answer the questions that follow.

Hollywood heart-throb Brad Pitt has revealed that he suffers from facial blindness. This is a
neurological disorder that causes people to find it difficult to recognise people's faces. In
more serious cases, sufferers can draw a blank when seeing the face of a family member or
even one's own face. The condition is called prosopagnosia. It is a little-known ailment that
afflicts about 1 in 40 people. It often triggers anxiety as people feel embarrassed in social
situations when they struggle to remember who people are. Sufferers tend to avoid situations
in which they will meet people, and as a result become withdrawn. In extreme cases, they will
be reluctant to leave their home.

Brad Pitt, 58, says he has not been officially diagnosed with prosopagnosia. He first spoke
about it in 2013. He said nobody believed him when he could not recall their name. He
worried that people thought he was being 'aloof, inaccessible and self-absorbed'. He said,
'People hate me because they think I'm disrespecting them'. He said he has used many
strategies to get around his lack of recall. He asked acquaintances where he had met them
before but said that made the situation worse. He explained, 'People were more offended. You
get this thing, like, "You're being egotistical. You're being conceited".' He hopes that speaking
about facial blindness will raise awareness of it.

SubQuestion No : 31

Q.31 What inference can be made about Brad Pitt's motivation for speaking about his condition?

Ans A. He wants to highlight the difficulties of being a celebrity.

B. He seeks sympathy and attention from the public.

C. He hopes to find a cure for prosopagnosia.

D. He aims to raise awareness and reduce stigma around the disorder.

Question Type : MCQ

Question ID : 630680798794

Option 1 ID : 6306803130025

Option 2 ID : 6306803130022

Option 3 ID : 6306803130023

Option 4 ID : 6306803130024

Status : Answered

Chosen Option : D

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

Read the given passage and answer the questions that follow.

Hollywood heart-throb Brad Pitt has revealed that he suffers from facial blindness. This is a
neurological disorder that causes people to find it difficult to recognise people's faces. In
more serious cases, sufferers can draw a blank when seeing the face of a family member or
even one's own face. The condition is called prosopagnosia. It is a little-known ailment that
afflicts about 1 in 40 people. It often triggers anxiety as people feel embarrassed in social
situations when they struggle to remember who people are. Sufferers tend to avoid situations
in which they will meet people, and as a result become withdrawn. In extreme cases, they will
be reluctant to leave their home.

Brad Pitt, 58, says he has not been officially diagnosed with prosopagnosia. He first spoke
about it in 2013. He said nobody believed him when he could not recall their name. He
worried that people thought he was being 'aloof, inaccessible and self-absorbed'. He said,
'People hate me because they think I'm disrespecting them'. He said he has used many
strategies to get around his lack of recall. He asked acquaintances where he had met them
before but said that made the situation worse. He explained, 'People were more offended. You
get this thing, like, "You're being egotistical. You're being conceited".' He hopes that speaking
about facial blindness will raise awareness of it.

SubQuestion No : 32

Q.32 How is the passage structured?

Ans A. It starts with Brad Pitt's personal experience with prosopagnosia, then discusses the

prevalence and impacts of the disorder and ends with his efforts to raise awareness.

B. It introduces Brad Pitt's personal experience people, provides background information

on the disorder 'prosopagnosia' and concludes with his hopes for raising awareness.

C. It describes Brad Pitt's struggle with fame, followed by an explanation of

prosopagnosia and concludes with strategies for coping with the disorder.

D. It begins with an overview of prosopagnosia, followed by Brad Pitt's personal

experience and strategies for coping with the disorder.

Question Type : MCQ

Question ID : 630680798795

Option 1 ID : 6306803130029

Option 2 ID : 6306803130027

Option 3 ID : 6306803130028

Option 4 ID : 6306803130026

Status : Answered

Chosen Option : D

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

Read the given passage and answer the questions that follow.

Hollywood heart-throb Brad Pitt has revealed that he suffers from facial blindness. This is a
neurological disorder that causes people to find it difficult to recognise people's faces. In
more serious cases, sufferers can draw a blank when seeing the face of a family member or
even one's own face. The condition is called prosopagnosia. It is a little-known ailment that
afflicts about 1 in 40 people. It often triggers anxiety as people feel embarrassed in social
situations when they struggle to remember who people are. Sufferers tend to avoid situations
in which they will meet people, and as a result become withdrawn. In extreme cases, they will
be reluctant to leave their home.

Brad Pitt, 58, says he has not been officially diagnosed with prosopagnosia. He first spoke
about it in 2013. He said nobody believed him when he could not recall their name. He
worried that people thought he was being 'aloof, inaccessible and self-absorbed'. He said,
'People hate me because they think I'm disrespecting them'. He said he has used many
strategies to get around his lack of recall. He asked acquaintances where he had met them
before but said that made the situation worse. He explained, 'People were more offended. You
get this thing, like, "You're being egotistical. You're being conceited".' He hopes that speaking
about facial blindness will raise awareness of it.

SubQuestion No : 33

Q.33 What can be inferred about the social impact of prosopagnosia from Brad Pitt's experience?

Ans A. It often leads to increased social interaction.

B. It has no effect on an individual's social life.

C. It can cause anxiety and withdrawal in social situations.

D. It improves memory recall in individuals.

Question Type : MCQ

Question ID : 630680798793

Option 1 ID : 6306803130018

Option 2 ID : 6306803130021

Option 3 ID : 6306803130019

Option 4 ID : 6306803130020

Status : Answered

Chosen Option : C

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

Read the given passage and answer the questions that follow.

Hollywood heart-throb Brad Pitt has revealed that he suffers from facial blindness. This is a
neurological disorder that causes people to find it difficult to recognise people's faces. In
more serious cases, sufferers can draw a blank when seeing the face of a family member or
even one's own face. The condition is called prosopagnosia. It is a little-known ailment that
afflicts about 1 in 40 people. It often triggers anxiety as people feel embarrassed in social
situations when they struggle to remember who people are. Sufferers tend to avoid situations
in which they will meet people, and as a result become withdrawn. In extreme cases, they will
be reluctant to leave their home.

Brad Pitt, 58, says he has not been officially diagnosed with prosopagnosia. He first spoke
about it in 2013. He said nobody believed him when he could not recall their name. He
worried that people thought he was being 'aloof, inaccessible and self-absorbed'. He said,
'People hate me because they think I'm disrespecting them'. He said he has used many
strategies to get around his lack of recall. He asked acquaintances where he had met them
before but said that made the situation worse. He explained, 'People were more offended. You
get this thing, like, "You're being egotistical. You're being conceited".' He hopes that speaking
about facial blindness will raise awareness of it.

SubQuestion No : 34

Q.34 Which of the following is the most suitable title for the passage?

Ans A. Brad Pitt's Efforts to Raise Awareness about Prosopagnosia

B. Understanding Prosopagnosia: Insights from Brad Pitt

C. Brad Pitt's Struggle with Social Anxiety

D. Hollywood Heart-throb Brad Pitt

Question Type : MCQ

Question ID : 630680798791

Option 1 ID : 6306803130013

Option 2 ID : 6306803130011

Option 3 ID : 6306803130012

Option 4 ID : 6306803130010

Status : Answered

Chosen Option : D

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

Read the given passage and answer the questions that follow.

Hollywood heart-throb Brad Pitt has revealed that he suffers from facial blindness. This is a
neurological disorder that causes people to find it difficult to recognise people's faces. In
more serious cases, sufferers can draw a blank when seeing the face of a family member or
even one's own face. The condition is called prosopagnosia. It is a little-known ailment that
afflicts about 1 in 40 people. It often triggers anxiety as people feel embarrassed in social
situations when they struggle to remember who people are. Sufferers tend to avoid situations
in which they will meet people, and as a result become withdrawn. In extreme cases, they will
be reluctant to leave their home.

Brad Pitt, 58, says he has not been officially diagnosed with prosopagnosia. He first spoke
about it in 2013. He said nobody believed him when he could not recall their name. He
worried that people thought he was being 'aloof, inaccessible and self-absorbed'. He said,
'People hate me because they think I'm disrespecting them'. He said he has used many
strategies to get around his lack of recall. He asked acquaintances where he had met them
before but said that made the situation worse. He explained, 'People were more offended. You
get this thing, like, "You're being egotistical. You're being conceited".' He hopes that speaking
about facial blindness will raise awareness of it.

SubQuestion No : 35

Q.35 How does Brad Pitt describe the initial reaction of people when he could not recall their
names?

Ans A. They feel visibly empathetic.

B. They react with incredulity.

C. They react with a show of sympathy.

D. They have an expression of amusement.

Question Type : MCQ

Question ID : 630680798792

Option 1 ID : 6306803130016

Option 2 ID : 6306803130017

Option 3 ID : 6306803130014

Option 4 ID : 6306803130015

Status : Answered

Chosen Option : B

Marks : 1

Section : Odia Language

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.1

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801148224

Option 1 ID : 6306804512991

Option 2 ID : 6306804512993

Option 3 ID : 6306804512990

Option 4 ID : 6306804512992

Status : Answered

Chosen Option : C

Marks : 1

Q.2

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801126973

Option 1 ID : 6306804428087

Option 2 ID : 6306804428086

Option 3 ID : 6306804428089

Option 4 ID : 6306804428088

Status : Answered

Chosen Option : A

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.3

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801122535

Option 1 ID : 6306804410377

Option 2 ID : 6306804410376

Option 3 ID : 6306804410379

Option 4 ID : 6306804410378

Status : Answered

Chosen Option : D

Marks : 1

Q.4

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801122090

Option 1 ID : 6306804408661

Option 2 ID : 6306804408664

Option 3 ID : 6306804408663

Option 4 ID : 6306804408662

Status : Answered

Chosen Option : B

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.5

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801122112

Option 1 ID : 6306804408752

Option 2 ID : 6306804408751

Option 3 ID : 6306804408750

Option 4 ID : 6306804408749

Status : Answered

Chosen Option : C

Marks : 1

Q.6

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801122563

Option 1 ID : 6306804410489

Option 2 ID : 6306804410488

Option 3 ID : 6306804410491

Option 4 ID : 6306804410490

Status : Answered

Chosen Option : A

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.7

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801122083

Option 1 ID : 6306804408635

Option 2 ID : 6306804408633

Option 3 ID : 6306804408636

Option 4 ID : 6306804408634

Status : Answered

Chosen Option : D

Marks : 1

Q.8

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801147619

Option 1 ID : 6306804510579

Option 2 ID : 6306804510581

Option 3 ID : 6306804510578

Option 4 ID : 6306804510580

Status : Answered

Chosen Option : C

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.9

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801104555

Option 1 ID : 6306804338752

Option 2 ID : 6306804338751

Option 3 ID : 6306804338750

Option 4 ID : 6306804338749

Status : Answered

Chosen Option : D

Marks : 1

Q.10

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801125486

Option 1 ID : 6306804422141

Option 2 ID : 6306804422142

Option 3 ID : 6306804422144

Option 4 ID : 6306804422143

Status : Answered

Chosen Option : D

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.11

Ans A. ADCB

B. DBAC

C. DCAB

D. BCAD

Question Type : MCQ

Question ID : 6306801101088

Option 1 ID : 6306804325599

Option 2 ID : 6306804325602

Option 3 ID : 6306804325600

Option 4 ID : 6306804325601

Status : Answered

Chosen Option : B

Marks : 1

Q.12

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801102020

Option 1 ID : 6306804329319

Option 2 ID : 6306804329318

Option 3 ID : 6306804329320

Option 4 ID : 6306804329317

Status : Answered

Chosen Option : B

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.13

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801102059

Option 1 ID : 6306804329475

Option 2 ID : 6306804329473

Option 3 ID : 6306804329476

Option 4 ID : 6306804329474

Status : Answered

Chosen Option : B

Marks : 1

Q.14

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801104879

Option 1 ID : 6306804340046

Option 2 ID : 6306804340045

Option 3 ID : 6306804340047

Option 4 ID : 6306804340048

Status : Answered

Chosen Option : D

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.15

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801148468

Option 1 ID : 6306804513951

Option 2 ID : 6306804513952

Option 3 ID : 6306804513950

Option 4 ID : 6306804513953

Status : Answered

Chosen Option : D

Marks : -0.25

Q.16

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801147143

Option 1 ID : 6306804508701

Option 2 ID : 6306804508703

Option 3 ID : 6306804508704

Option 4 ID : 6306804508702

Status : Answered

Chosen Option : C

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.17

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801126956

Option 1 ID : 6306804428019

Option 2 ID : 6306804428020

Option 3 ID : 6306804428021

Option 4 ID : 6306804428018

Status : Answered

Chosen Option : D

Marks : 1

Q.18

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801100947

Option 1 ID : 6306804325035

Option 2 ID : 6306804325036

Option 3 ID : 6306804325037

Option 4 ID : 6306804325038

Status : Answered

Chosen Option : B

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.19

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801122487

Option 1 ID : 6306804410186

Option 2 ID : 6306804410184

Option 3 ID : 6306804410187

Option 4 ID : 6306804410185

Status : Answered

Chosen Option : D

Marks : 1

Q.20

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801146970

Option 1 ID : 6306804508015

Option 2 ID : 6306804508016

Option 3 ID : 6306804508017

Option 4 ID : 6306804508018

Status : Answered

Chosen Option : C

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 21

Q.21

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801156895

Option 1 ID : 6306804546799

Option 2 ID : 6306804546798

Option 3 ID : 6306804546796

Option 4 ID : 6306804546797

Status : Answered

Chosen Option : A

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 22

Q.22

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801156898

Option 1 ID : 6306804546811

Option 2 ID : 6306804546809

Option 3 ID : 6306804546808

Option 4 ID : 6306804546810

Status : Answered

Chosen Option : C

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 23

Q.23

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801156894

Option 1 ID : 6306804546795

Option 2 ID : 6306804546794

Option 3 ID : 6306804546793

Option 4 ID : 6306804546792

Status : Answered

Chosen Option : A

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 24

Q.24

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801156896

Option 1 ID : 6306804546801

Option 2 ID : 6306804546802

Option 3 ID : 6306804546803

Option 4 ID : 6306804546800

Status : Answered

Chosen Option : D

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 25

Q.25

Ans
A. 

B. 

C.

D. 

Question Type : MCQ

Question ID : 6306801156897

Option 1 ID : 6306804546807

Option 2 ID : 6306804546806

Option 3 ID : 6306804546805

Option 4 ID : 6306804546804

Status : Answered

Chosen Option : C

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 26

Q.26

Ans A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801157222

Option 1 ID : 6306804548067

Option 2 ID : 6306804548068

Option 3 ID : 6306804548066

Option 4 ID : 6306804548069

Status : Answered

Chosen Option : B

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 27

Q.27

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801157223

Option 1 ID : 6306804548071

Option 2 ID : 6306804548070

Option 3 ID : 6306804548072

Option 4 ID : 6306804548073

Status : Answered

Chosen Option : D

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 28

Q.28

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801157224

Option 1 ID : 6306804548074

Option 2 ID : 6306804548076

Option 3 ID : 6306804548075

Option 4 ID : 6306804548077

Status : Answered

Chosen Option : B

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 29

Q.29

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801157221

Option 1 ID : 6306804548064

Option 2 ID : 6306804548062

Option 3 ID : 6306804548063

Option 4 ID : 6306804548065

Status : Answered

Chosen Option : D

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 30

Q.30

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801157225

Option 1 ID : 6306804548081

Option 2 ID : 6306804548080

Option 3 ID : 6306804548078

Option 4 ID : 6306804548079

Status : Answered

Chosen Option : C

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 31

Q.31

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801150925

Option 1 ID : 6306804523704

Option 2 ID : 6306804523702

Option 3 ID : 6306804523703

Option 4 ID : 6306804523705

Status : Answered

Chosen Option : B

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 32

Q.32

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801150926

Option 1 ID : 6306804523709

Option 2 ID : 6306804523706

Option 3 ID : 6306804523708

Option 4 ID : 6306804523707

Status : Answered

Chosen Option : A

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 33

Q.33

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801150922

Option 1 ID : 6306804523692

Option 2 ID : 6306804523690

Option 3 ID : 6306804523691

Option 4 ID : 6306804523693

Status : Answered

Chosen Option : C

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 34

Q.34

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801150923

Option 1 ID : 6306804523695

Option 2 ID : 6306804523697

Option 3 ID : 6306804523694

Option 4 ID : 6306804523696

Status : Answered

Chosen Option : D

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Comprehension:

SubQuestion No : 35

Q.35

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801150924

Option 1 ID : 6306804523698

Option 2 ID : 6306804523700

Option 3 ID : 6306804523699

Option 4 ID : 6306804523701

Status : Answered

Chosen Option : D

Marks : 1

Q.1 Gout is caused by the buildup of which substance in the blood?

Ans A. Ascorbic acid

B. Boric acid

C. Uric acid

D. Carbonic acid

Question Type : MCQ

Question ID : 630680711347

Option 1 ID : 6306802787046

Option 2 ID : 6306802787044

Option 3 ID : 6306802787047

Option 4 ID : 6306802787045

Status : Answered

Chosen Option : C

Marks : 1

Section : General Science

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.2 What is the key objective of the iDEX (Innovations for Defence Excellence) initiative?

Ans A. Establish new military bases in remote areas

B. Promote foreign investment in Indian defence sector

C. Develop nuclear deterrent capabilities

D. Fund and support startups for defence technology innovation

Question Type : MCQ

Question ID : 6306801065011

Option 1 ID : 6306804182331

Option 2 ID : 6306804182329

Option 3 ID : 6306804182332

Option 4 ID : 6306804182330

Status : Answered

Chosen Option : C

Marks : -0.25

Q.3 What is the role of the INDUS-X Gurukul series launched in 2024?

Ans A. Developing nuclear technologies

B. Educating defence startups on private capital and export controls

C. Enhancing cyber defence capabilities

D. Promoting joint military exercises

Question Type : MCQ

Question ID : 6306801065123

Option 1 ID : 6306804182769

Option 2 ID : 6306804182770

Option 3 ID : 6306804182772

Option 4 ID : 6306804182771

Status : Answered

Chosen Option : B

Marks : 1

Q.4 Who developed the electromagnetic theory?

Ans A. Galileo Galilei

B. Isaac Newton

C. James Clerk Maxwell

D. Albert Einstein

Question Type : MCQ

Question ID : 630680774572

Option 1 ID : 6306803036168

Option 2 ID : 6306803036167

Option 3 ID : 6306803036169

Option 4 ID : 6306803036170

Status : Answered

Chosen Option : D

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.5 Select the correct statement about sound waves from among the following.

Ans A. Sound is a transverse wave and needs medium to travel.

B. High pitch sound has higher frequency.

C. High pitch sound has both higher frequency and amplitude.

D. Sound travels faster in air than steel.

Question Type : MCQ

Question ID : 630680357738

Option 1 ID : 6306801392943

Option 2 ID : 6306801392941

Option 3 ID : 6306801392942

Option 4 ID : 6306801392944

Status : Answered

Chosen Option : D

Marks : -0.25

Q.6 Nagpur-based ______________________ has delivered the first batch of indigenously developed
Loitering Munition, Nagastra–1, to the Indian Army in June 2024.

Ans A. Bharat Electronics Ltd.

B. Bharat Dynamics Ltd.

C. Economics Explosives Ltd.

D. Hindustan Aeronautics Ltd.

Question Type : MCQ

Question ID : 6306801045698

Option 1 ID : 6306804104902

Option 2 ID : 6306804104903

Option 3 ID : 6306804104900

Option 4 ID : 6306804104901

Status : Answered

Chosen Option : D

Marks : -0.25

Q.7 What essential roles do glyoxysomes play in plants?

Ans A. They are involved in photorespiration in plant cells.

B. They are involved in the shape and rigidity of the plant cell.

C. They are involved in metamorphosis of plant leaves.

D. They are involved in the conversion of lipids to carbohydrates during germination.

Question Type : MCQ

Question ID : 630680562537

Option 1 ID : 6306802199070

Option 2 ID : 6306802199072

Option 3 ID : 6306802199071

Option 4 ID : 6306802199069

Status : Answered

Chosen Option : B

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.8 A bat emits ultrasonic sound of frequency 1000 kHz in air. If the sound gets reflected from a
water surface, the wavelength of the reflected sound will be _____. (Speed of sound in air is
340 ms-1)

Ans A. 0.55 × 10-2 m 

B. 0.65 × 10-2 m

C. 0.34×10-3 m

D. 0.74 × 10-2 m

Question Type : MCQ

Question ID : 630680328110

Option 1 ID : 6306801276409

Option 2 ID : 6306801276411

Option 3 ID : 6306801276410

Option 4 ID : 6306801276412

Status : Answered

Chosen Option : C

Marks : 1

Q.9 What is the name of India's first ChatGPT-powered AI assistant?

Ans A. Lexi

B. Surya

C. Nemo

D. Devi

Question Type : MCQ

Question ID : 630680750903

Option 1 ID : 6306802943040

Option 2 ID : 6306802943041

Option 3 ID : 6306802943038

Option 4 ID : 6306802943039

Status : Answered

Chosen Option : B

Marks : -0.25

Q.10 What do the '3 Ds' indicate about the symptoms of 'Classic pellagra'?

Ans A. Dermatitis, depression and dementia

B. Diarrhea, diabetes and dementia

C. Diarrhea, dermatitis and dementia

D. Diabetes, depression and dementia

Question Type : MCQ

Question ID : 630680669661

Option 1 ID : 6306802622195

Option 2 ID : 6306802622194

Option 3 ID : 6306802622193

Option 4 ID : 6306802622196

Status : Answered

Chosen Option : C

Marks : 1

Section : Current Events

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.11 What is the title of the novel that won the 2024 International Booker Prize?

Ans A. Time Shelter

B. The End of Days

C. Go, Went, Gone

D. Kairos

Question Type : MCQ

Question ID : 6306801057421

Option 1 ID : 6306804152086

Option 2 ID : 6306804152083

Option 3 ID : 6306804152085

Option 4 ID : 6306804152084

Status : Answered

Chosen Option : B

Marks : -0.25

Q.12 The 2023 UN Climate Change Conference was held in _____.

Ans A. Dubai, United Arab Emirates

B. Paris, France

C. New York, USA

D. Tokyo, Japan

Question Type : MCQ

Question ID : 6306801057060

Option 1 ID : 6306804150650

Option 2 ID : 6306804150649

Option 3 ID : 6306804150651

Option 4 ID : 6306804150652

Status : Answered

Chosen Option : A

Marks : 1

Q.13 How many sections were introduced in Bharatiya Nagarik Suraksha Sanhita (BNSS) 2023 in
July 2024?

Ans A. 531 sections

B. 484 sections

C. 358 sections

D. 368 sections

Question Type : MCQ

Question ID : 6306801050047

Option 1 ID : 6306804122539

Option 2 ID : 6306804122537

Option 3 ID : 6306804122540

Option 4 ID : 6306804122538

Status : Answered

Chosen Option : B

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.14 What was the new standard deduction set for salaried person under the new income tax
regime, in the Union Budget 2024-25?

Ans A. ₹65,000

B. ₹95,000

C. ₹58,000

D. ₹75,000

Question Type : MCQ

Question ID : 6306801050071

Option 1 ID : 6306804122634

Option 2 ID : 6306804122636

Option 3 ID : 6306804122635

Option 4 ID : 6306804122633

Status : Answered

Chosen Option : D

Marks : 1

Q.15 Which team won Pro-Kabaddi League 2023-24?

Ans A. Haryana Steelers

B. Puneri Paltan

C. Gujarat Giants

D. Patna Pirates

Question Type : MCQ

Question ID : 6306801050019

Option 1 ID : 6306804122425

Option 2 ID : 6306804122427

Option 3 ID : 6306804122428

Option 4 ID : 6306804122426

Status : Answered

Chosen Option : D

Marks : -0.25

Q.16 The COP28 agreement in 2023 signaled the 'beginning of the end' of the _____ era.

Ans A. nuclear energy

B. fossil fuel

C. hydropower

D. renewable energy

Question Type : MCQ

Question ID : 6306801057071

Option 1 ID : 6306804150693

Option 2 ID : 6306804150695

Option 3 ID : 6306804150696

Option 4 ID : 6306804150694

Status : Answered

Chosen Option : B

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.17 Who among the following won the Ballon d'Or Féminin in 2023?

Ans A. Alexia Putella

B. Vivianne Miedema

C. Aitana Bonmatí

D. Sam Kerr

Question Type : MCQ

Question ID : 6306801057442

Option 1 ID : 6306804152167

Option 2 ID : 6306804152170

Option 3 ID : 6306804152169

Option 4 ID : 6306804152168

Status : Answered

Chosen Option : B

Marks : -0.25

Q.18 Who is lined up to become the next secretary general of NATO in 2024?

Ans A. Anders Fogh Rasmussen

B. Jaap de Hoop Scheffer

C. Mark Rutte

D. Jens Stoltenberg

Question Type : MCQ

Question ID : 6306801062238

Option 1 ID : 6306804171335

Option 2 ID : 6306804171336

Option 3 ID : 6306804171333

Option 4 ID : 6306804171334

Status : Answered

Chosen Option : D

Marks : -0.25

Q.19 What is the objective of the 'Mera Bill Mera Adhikar' scheme launched by the Indian
Government on 1 September 2023?

Ans A. To encourage culture of customers asking for invoices/bills for all purchases

B. To reduce tax evasion

C. To increase government revenue

D. To promote digital transactions

Question Type : MCQ

Question ID : 630680469549

Option 1 ID : 6306801833964

Option 2 ID : 6306801833966

Option 3 ID : 6306801833965

Option 4 ID : 6306801833963

Status : Answered

Chosen Option : A

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.20 Which of the following teams won the Syed Mushtaq Ali Trophy 2023-2024?

Ans A. Baroda

B. Delhi

C. Punjab

D. Maharashtra

Question Type : MCQ

Question ID : 630680872362

Option 1 ID : 6306803416490

Option 2 ID : 6306803416493

Option 3 ID : 6306803416491

Option 4 ID : 6306803416492

Status : Answered

Chosen Option : B

Marks : -0.25

Q.21 Who among the following Mughals participated in the first battle of Panipat?

Ans A. Babur

B. Humayun

C. Akbar

D. Jahangir

Question Type : MCQ

Question ID : 630680572103

Option 1 ID : 6306802237272

Option 2 ID : 6306802237273

Option 3 ID : 6306802237274

Option 4 ID : 6306802237275

Status : Answered

Chosen Option : A

Marks : 1

Q.22 Who were falsely accused of murdering Bazzelgette and hanged at dawn on April 4, 1941, in
Bhagalpur Jail, Bihar?

Ans A. Gopabandhu Choudhury and Acharya Harihar Das

B. Laxman Naik and Gopabandhu Choudhur

C. Raghunath Mohanty and Dibakar Parida

D. Bibhudendu Mishra and Suraj Mal Saha

Question Type : MCQ

Question ID : 6306801135111

Option 1 ID : 6306804460541

Option 2 ID : 6306804460538

Option 3 ID : 6306804460540

Option 4 ID : 6306804460539

Status : Answered

Chosen Option : A

Marks : -0.25

Section : History of India

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.23 Which Mauryan ruler was referred to as ‘Amitrochates’ in Greek sources?

Ans A. Bindusara

B. Dasharatha

C. Chandragupta Maurya

D. Brihadratha

Question Type : MCQ

Question ID : 63068092819

Option 1 ID : 630680359969

Option 2 ID : 630680359970

Option 3 ID : 630680359968

Option 4 ID : 630680359967

Status : Answered

Chosen Option : A

Marks : 1

Q.24

Ans
A. 

B. 

C.

D. 

Question Type : MCQ

Question ID : 630680595374

Option 1 ID : 6306802329691

Option 2 ID : 6306802329688

Option 3 ID : 6306802329690

Option 4 ID : 6306802329689

Status : Answered

Chosen Option : C

Marks : 1

Q.25

Ans A. 1932

B. 1931

C. 1933

D. 1930

Question Type : MCQ

Question ID : 630680766125

Option 1 ID : 6306803002926

Option 2 ID : 6306803002925

Option 3 ID : 6306803002927

Option 4 ID : 6306803002924

Status : Answered

Chosen Option : B

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.26 Which of the following women was known as the 'Nightingale of India'?

Ans A. Sucheta Kripalani

B. Indira Gandhi

C. Sarojini Naidu

D. Vijaya Lakshmi Pandit

Question Type : MCQ

Question ID : 6306801148030

Option 1 ID : 6306804512220

Option 2 ID : 6306804512218

Option 3 ID : 6306804512219

Option 4 ID : 6306804512221

Status : Answered

Chosen Option : C

Marks : 1

Q.27 The Banaras Hindu University was established under the direction of which Indian
nationalist leader?

Ans A. VD Savarkar

B. Raja Ram Mohan Roy

C. Swami Vivekananda

D. Madan Mohan Malaviya

Question Type : MCQ

Question ID : 630680607687

Option 1 ID : 6306802377856

Option 2 ID : 6306802377855

Option 3 ID : 6306802377854

Option 4 ID : 6306802377853

Status : Answered

Chosen Option : D

Marks : 1

Q.28

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 630680595783

Option 1 ID : 6306802331323

Option 2 ID : 6306802331320

Option 3 ID : 6306802331322

Option 4 ID : 6306802331321

Status : Answered

Chosen Option : C

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.29 In which year was the 'All India Congress Committee' session held in Karachi?

Ans A. 1931

B. 1932

C. 1933

D. 1930

Question Type : MCQ

Question ID : 630680653740

Option 1 ID : 6306802559376

Option 2 ID : 6306802559375

Option 3 ID : 6306802559377

Option 4 ID : 6306802559374

Status : Answered

Chosen Option : D

Marks : -0.25

Q.30 Queen Didda was the ruler of:

Ans A. Bengal

B. Multan

C. Kashmir

D. Kannauj

Question Type : MCQ

Question ID : 630680333519

Option 1 ID : 6306801297350

Option 2 ID : 6306801297349

Option 3 ID : 6306801297352

Option 4 ID : 6306801297351

Status : Answered

Chosen Option : B

Marks : -0.25

Q.31

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 630680682612

Option 1 ID : 6306802673206

Option 2 ID : 6306802673205

Option 3 ID : 6306802673204

Option 4 ID : 6306802673203

Status : Answered

Chosen Option : C

Marks : 1

Section : Geography

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.32

Ans A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 630680655736

Option 1 ID : 6306802566931

Option 2 ID : 6306802566930

Option 3 ID : 6306802566932

Option 4 ID : 6306802566933

Status : Answered

Chosen Option : C

Marks : -0.25

Q.33

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801051834

Option 1 ID : 6306804129780

Option 2 ID : 6306804129781

Option 3 ID : 6306804129783

Option 4 ID : 6306804129782

Status : Answered

Chosen Option : B

Marks : -0.25

Q.34 Buxa Tiger Reserve is situated in _____.

Ans A. West Bengal

B. Odisha

C. Chhattisgarh

D. Kerala

Question Type : MCQ

Question ID : 630680577722

Option 1 ID : 6306802259735

Option 2 ID : 6306802259733

Option 3 ID : 6306802259732

Option 4 ID : 6306802259734

Status : Answered

Chosen Option : A

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.35

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 630680590644

Option 1 ID : 6306802311059

Option 2 ID : 6306802311061

Option 3 ID : 6306802311062

Option 4 ID : 6306802311060

Status : Answered

Chosen Option : C

Marks : 1

Q.36 Which of the following states is the leading producer of coal for 2022-23?

Ans A. Chhattisgarh

B. Madhya Pradesh

C. Jharkhand

D. Odisha

Question Type : MCQ

Question ID : 630680695593

Option 1 ID : 6306802724614

Option 2 ID : 6306802724613

Option 3 ID : 6306802724611

Option 4 ID : 6306802724612

Status : Answered

Chosen Option : C

Marks : -0.25

Q.37 Chhattisgarh leads in the production of which of the following mineral resources as of
2021-22?

Ans A. Iron Ore

B. Bauxite

C. Tin Concentrate

D. Limestone

Question Type : MCQ

Question ID : 630680700380

Option 1 ID : 6306802743498

Option 2 ID : 6306802743497

Option 3 ID : 6306802743499

Option 4 ID : 6306802743500

Status : Answered

Chosen Option : A

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
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Q.38 Which of the following shipyards is located in Visakhapatnam, Andhra Pradesh?

Ans A. Garden Reach Shipbuilders and Engineers Limited

B. Cochin Shipyard Limited

C. Hindustan Shipyard Limited

D. Mazagon Dock Shipbuilders Limited

Question Type : MCQ

Question ID : 630680708645

Option 1 ID : 6306802776214

Option 2 ID : 6306802776212

Option 3 ID : 6306802776211

Option 4 ID : 6306802776213

Status : Answered

Chosen Option : C

Marks : 1

Q.39 According to Koeppen’s Scheme, which type of climate is denoted by ‘Aw’ in India?

Ans A. Dry hot summer

B. Tropical Savannah type

C. Winter dry and very severe

D. No dry season

Question Type : MCQ

Question ID : 630680616526

Option 1 ID : 6306802412723

Option 2 ID : 6306802412724

Option 3 ID : 6306802412726

Option 4 ID : 6306802412725

Status : Answered

Chosen Option : C

Marks : -0.25

Q.40

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 6306801074782

Option 1 ID : 6306804221310

Option 2 ID : 6306804221309

Option 3 ID : 6306804221311

Option 4 ID : 6306804221312

Status : Answered

Chosen Option : B

Marks : 1

Section : Indian polity and Economy

https://applink.adda247.com/d/XhqWf9lSap
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Q.41 Which of the following is the tagline of the UDAN Scheme?

Ans A. Aam Naagrik ki Hawai Udan

B. Ude Desh ka har Naagrik

C. Ude Desh ka Aam Naagrik

D. Aam Naagrik ki Udan

Question Type : MCQ

Question ID : 630680302490

Option 1 ID : 6306801176630

Option 2 ID : 6306801176633

Option 3 ID : 6306801176631

Option 4 ID : 6306801176632

Status : Answered

Chosen Option : C

Marks : 1

Q.42

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 630680774304

Option 1 ID : 6306803035120

Option 2 ID : 6306803035118

Option 3 ID : 6306803035117

Option 4 ID : 6306803035119

Status : Answered

Chosen Option : D

Marks : -0.25

Q.43 Which of the following fundamental rights is guaranteed by Articles 19-22?

Ans A. Right to Freedom

B. Right to Constitutional Remedies

C. Right Against Exploitation

D. Right to Freedom of Religion

Question Type : MCQ

Question ID : 630680758850

Option 1 ID : 6306802974368

Option 2 ID : 6306802974366

Option 3 ID : 6306802974365

Option 4 ID : 6306802974367

Status : Answered

Chosen Option : A

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.44 Which part of the Indian Constitution deals with citizenship?

Ans A. Part-II

B. Part-I

C. Part-IV

D. Part-III

Question Type : MCQ

Question ID : 630680733072

Option 1 ID : 6306802873081

Option 2 ID : 6306802873080

Option 3 ID : 6306802873083

Option 4 ID : 6306802873082

Status : Answered

Chosen Option : A

Marks : 1

Q.45 What is the total strength of the Odisha Legislative Assembly as of September 2024?

Ans A. 147

B. 150

C. 175

D. 120

Question Type : MCQ

Question ID : 6306801126278

Option 1 ID : 6306804425327

Option 2 ID : 6306804425328

Option 3 ID : 6306804425329

Option 4 ID : 6306804425326

Status : Answered

Chosen Option : A

Marks : 1

Q.46 In cheques, there is a Magnetic Ink Character Recognition code. This code contains how
many digits?

Ans A. 7

B. 12

C. 6

D. 9

Question Type : MCQ

Question ID : 630680665565

Option 1 ID : 6306802605821

Option 2 ID : 6306802605823

Option 3 ID : 6306802605820

Option 4 ID : 6306802605822

Status : Answered

Chosen Option : A

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
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Q.47 Who among the following is considered as a ceremonial head in a Parliamentary form of
Government?

Ans A. Deputy Prime Minister

B. President or Monarch

C. Speaker of the Lower house

D. Prime Minister

Question Type : MCQ

Question ID : 630680570147

Option 1 ID : 6306802229440

Option 2 ID : 6306802229437

Option 3 ID : 6306802229438

Option 4 ID : 6306802229439

Status : Answered

Chosen Option : B

Marks : 1

Q.48 In which of the following years was the Citizenship Act first enacted by the Indian
Parliament?

Ans A. 1930

B. 1954

C. 1955

D. 1989

Question Type : MCQ

Question ID : 630680758903

Option 1 ID : 6306802974568

Option 2 ID : 6306802974570

Option 3 ID : 6306802974571

Option 4 ID : 6306802974569

Status : Answered

Chosen Option : B

Marks : -0.25

Q.49 Rourkela Steel Plant (RSP), the first integrated steel plant in the public sector in India, was
set up in collaboration with which country?

Ans A. France

B. Japan

C. South Africa

D. Germany

Question Type : MCQ

Question ID : 6306801146917

Option 1 ID : 6306804507796

Option 2 ID : 6306804507797

Option 3 ID : 6306804507799

Option 4 ID : 6306804507798

Status : Answered

Chosen Option : D

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
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Q.50 What term refers to the process of outsourcing production or services to countries with
lower labour costs?

Ans A. Localisation

B. Offshoring

C. Protectionism

D. Import substitution

Question Type : MCQ

Question ID : 630680774224

Option 1 ID : 6306803034803

Option 2 ID : 6306803034801

Option 3 ID : 6306803034804

Option 4 ID : 6306803034802

Status : Answered

Chosen Option : A

Marks : -0.25

Q.51 This question is based on the five, three-digit numbers given below.

(Left) 164 253 927 834 519 (Right)

(Example- 697 – First digit = 6, second digit = 9 and third digit = 7)

NOTE: All operations to be done from left to right.

If 2 is added to second digit of every number, in how many numbers will the second digit be
exactly divisible by the first digit?

Ans A. 2

B. 0

C. 3

D. 1

Question Type : MCQ

Question ID : 630680959156

Option 1 ID : 6306803760418

Option 2 ID : 6306803760416

Option 3 ID : 6306803760419

Option 4 ID : 6306803760417

Status : Answered

Chosen Option : D

Marks : 1

Section : Mental ability

https://applink.adda247.com/d/XhqWf9lSap
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Q.52 Read the given statements and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,
decide which of the given conclusion(s) logically follow(s) from the statements.

Statements:
All spades are diamonds.
All diamonds are hearts.

Conclusions:
(I) Some hearts are spades.
(II) Some spades are hearts.

Ans A. Only conclusion (II) follows.

B. Only conclusion (I) follows.

C. Neither conclusion (I) nor (II) follows.

D. Both conclusions (I) and (II) follow.

Question Type : MCQ

Question ID : 630680917808

Option 1 ID : 6306803596414

Option 2 ID : 6306803596413

Option 3 ID : 6306803596415

Option 4 ID : 6306803596416

Status : Answered

Chosen Option : C

Marks : -0.25

Q.53 Isack starts from Point A and drives 6 km towards the South. He then takes a right turn,
drives 3 km, turns right and drives 9 km. He then takes a right turn and drives 5 km. He
takes a final right turn, drives 3 km and stops at Point P. How far (shortest distance) and
towards which direction should he drive in order to reach Point A again? (All turns are 90
degrees turns only unless specified)

Ans A. 4 km to the South

B. 2 km to the West

C. 1 km to the East

D. 3 km to the North

Question Type : MCQ

Question ID : 630680757050

Option 1 ID : 6306802967167

Option 2 ID : 6306802967165

Option 3 ID : 6306802967164

Option 4 ID : 6306802967166

Status : Answered

Chosen Option : B

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
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Q.54 In a certain code language,

A + B means ‘A is the brother of B’,
A – B means ‘A is the mother of B’,
A x B means ‘A is the sister of B’ and
A ÷ B means ‘A is the husband of B’.

Based on the above, how is P related to T if ‘P x Q ÷ R – S + T’?

Ans A. Husband’s sister

B. Husband’s mother

C. Mother’s mother

D. Father’s sister

Question Type : MCQ

Question ID : 630680732907

Option 1 ID : 6306802872440

Option 2 ID : 6306802872439

Option 3 ID : 6306802872437

Option 4 ID : 6306802872438

Status : Answered

Chosen Option : A

Marks : -0.25

Q.55

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 630680375966

Option 1 ID : 6306801464936

Option 2 ID : 6306801464935

Option 3 ID : 6306801464937

Option 4 ID : 6306801464938

Status : Answered

Chosen Option : B

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
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Q.56 Mr X starts from Point A and drives 9 km towards the West. He then takes a left turn, drives
5 km, turns right and drives 4 km. He then takes a right turn and drives 7 km. He takes a
final right turn, drives 13 km and stops at Point P. How far (shortest distance) and towards
which direction should he drive in order to reach Point A again? (All turns are 90 degrees
turns only unless specified)

Ans A. 2 km to the North

B. 1 km to the East

C. 2 km to the South

D. 1 km to the West

Question Type : MCQ

Question ID : 630680757071

Option 1 ID : 6306802967267

Option 2 ID : 6306802967266

Option 3 ID : 6306802967265

Option 4 ID : 6306802967264

Status : Answered

Chosen Option : C

Marks : 1

Q.57

Ans
A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 630680916226

Option 1 ID : 6306803590039

Option 2 ID : 6306803590038

Option 3 ID : 6306803590040

Option 4 ID : 6306803590041

Status : Answered

Chosen Option : D

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
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Q.58 A, B, C, D, E and F live on six different floors of the same building. The lowermost floor in the
building is numbered 1, the floor above it is numbered 2 and so on, till the topmost floor that
is numbered 6. C lives on an even-numbered floor but not 6. The sum of floors on which F
and C live is 9. The sum of floors on which C and B live is 5. D lives immediately below A.
How many people live below A?

Ans A. One

B. Four

C. Three

D. Two

Question Type : MCQ

Question ID : 630680908594

Option 1 ID : 6306803559446

Option 2 ID : 6306803559449

Option 3 ID : 6306803559448

Option 4 ID : 6306803559447

Status : Answered

Chosen Option : D

Marks : 1

Q.59 B is A’s daughter. F is married to B. G is the mother of B. C is B’s daughter. D is the brother of
C. E is the wife of D. How is G related to D?

Ans A. Father’s brother

B. Sister’s husband

C. Mother’s mother

D. Father

Question Type : MCQ

Question ID : 630680285015

Option 1 ID : 6306801108038

Option 2 ID : 6306801108037

Option 3 ID : 6306801108035

Option 4 ID : 6306801108036

Status : Answered

Chosen Option : C

Marks : 1

Q.60 In a certain code language, ‘ROAD’ is coded as ‘2496’ and ‘DIGS’ is coded as ‘3915’. What is
the code for ‘D’ in the given code language?

Ans A. 6

B. 5

C. 9

D. 3

Question Type : MCQ

Question ID : 630680959477

Option 1 ID : 6306803761698

Option 2 ID : 6306803761697

Option 3 ID : 6306803761695

Option 4 ID : 6306803761696

Status : Answered

Chosen Option : C

Marks : 1

Section : Numerical ability test

https://applink.adda247.com/d/XhqWf9lSap
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Q.61 Simplify:

Ans A. 18

B. 112

C. 198

D. 102

Question Type : MCQ

Question ID : 630680705419

Option 1 ID : 6306802763363

Option 2 ID : 6306802763362

Option 3 ID : 6306802763365

Option 4 ID : 6306802763364

Status : Answered

Chosen Option : A

Marks : -0.25

Q.62 Kalpana and Sudha got 715 and 495 marks respectively in an examination. If Kalpana
scored 26% marks, then what is the percentage of marks scored by Sudha?

Ans A. 17%

B. 18%

C. 20%

D. 16%

Question Type : MCQ

Question ID : 6306801021552

Option 1 ID : 6306804009258

Option 2 ID : 6306804009256

Option 3 ID : 6306804009259

Option 4 ID : 6306804009257

Status : Answered

Chosen Option : D

Marks : -0.25

Q.63 Suresh invested a certain sum of money at 4% per annum simple interest. If he receives an
interest of ₹14577 after 3 years, the sum (in ₹) he invested is:

Ans A. 121475

B. 120752

C. 121004

D. 121996

Question Type : MCQ

Question ID : 630680808928

Option 1 ID : 6306803169291

Option 2 ID : 6306803169294

Option 3 ID : 6306803169293

Option 4 ID : 6306803169292

Status : Answered

Chosen Option : A

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
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Q.64 There are 71 members in group A, 18 members in group B and 53 members in group C. All
the members of these groups went to a restaurant. The average amount spent on each
member of group A, B and C is ₹397, ₹421 and ₹137, respectively. The total average amount
(in ₹) spent per member is:

Ans A. 301

B. 303

C. 302

D. 306

Question Type : MCQ

Question ID : 630680984913

Option 1 ID : 6306803863771

Option 2 ID : 6306803863769

Option 3 ID : 6306803863770

Option 4 ID : 6306803863772

Status : Answered

Chosen Option : B

Marks : 1

Q.65 A and B can do a piece of work in 26 days and 33 days, respectively. The number of days
[Correct to one decimal place] required to complete the work if both A and B work together
is:

Ans A. 16.2

B. 17.7

C. 14.5

D. 16.4

Question Type : MCQ

Question ID : 630680947928

Option 1 ID : 6306803716405

Option 2 ID : 6306803716406

Option 3 ID : 6306803716404

Option 4 ID : 6306803716407

Status : Answered

Chosen Option : C

Marks : 1

Q.66 The list price of a air conditioner is ₹75000. It is sold to a retailer after two successive
discounts of 2% and 30%. The retailer wants to earn a profit of 42% on his cost after
allowing a 29% discount (on its new list price) to the customer. At what price should he list
the air conditioner?

Ans A. ₹102905

B. ₹102900

C. ₹102740

D. ₹102731

Question Type : MCQ

Question ID : 630680995098

Option 1 ID : 6306803904421

Option 2 ID : 6306803904419

Option 3 ID : 6306803904420

Option 4 ID : 6306803904422

Status : Answered

Chosen Option : B

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
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Q.67

Ans A. 138

B. 132

C. 134

D. 135

Question Type : MCQ

Question ID : 630680931652

Option 1 ID : 6306803651422

Option 2 ID : 6306803651423

Option 3 ID : 6306803651421

Option 4 ID : 6306803651420

Status : Answered

Chosen Option : C

Marks : -0.25

Q.68 The value of 44 × ( 84 ÷ 7 ) ÷ 2 - { 3 × 10 + 10 - ( 6 - 3 ) ÷ 3 } is:

Ans A. 227

B. 225

C. 229

D. 221

Question Type : MCQ

Question ID : 630680800884

Option 1 ID : 6306803138099

Option 2 ID : 6306803138096

Option 3 ID : 6306803138097

Option 4 ID : 6306803138098

Status : Answered

Chosen Option : B

Marks : 1

Q.69 Write the expanded form of (7a + 9b + 6c)2.

Ans A. 49a2 + 81b2 + 36c2 + 126ab + 108bc + 94ac

B. 49a2 + 81b2 + 36c2 + 130ab + 108bc + 84ac

C. 49a2 + 81b2 + 36c2 + 126ab + 103bc + 84ac

D. 49a2 + 81b2 + 36c2 + 126ab + 108bc + 84ac

Question Type : MCQ

Question ID : 630680827372

Option 1 ID : 6306803240825

Option 2 ID : 6306803240824

Option 3 ID : 6306803240826

Option 4 ID : 6306803240823

Status : Answered

Chosen Option : A

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
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Q.70 If both the roots of the quadratic equation (2p + 1) x2 + (3p + 2)x + (p+1) = 0 and (6p + 1)x2 +

9px + 3p - 1 = 0 are common, then what is the value of p2 + 3p - 1 ?

Ans

A. 

B. 

C. 

D. 

Question Type : MCQ

Question ID : 630680354936

Option 1 ID : 6306801381818

Option 2 ID : 6306801381819

Option 3 ID : 6306801381820

Option 4 ID : 6306801381817

Status : Not Answered

Chosen Option : --

Marks : 0

Q.71 Which of the following scenarios best exemplifies how system software and application
software interact within a computer system?

Ans A. A spreadsheet application crashes repeatedly, causing the entire operating system to

shut down and reboot automatically.

B. A video editing software requires regular updates from the manufacturer to fix bugs

and improve performance.

C. A game designed for a Windows operating system fails to run on a computer using

macOS without the aid of compatibility software.

D. A user installs a new antivirus program that scans for malware while running in the

background of the operating system.

Question Type : MCQ

Question ID : 6306801058005

Option 1 ID : 6306804154414

Option 2 ID : 6306804154411

Option 3 ID : 6306804154412

Option 4 ID : 6306804154413

Status : Answered

Chosen Option : A

Marks : -0.25

Section : Basic Computer literacy

https://applink.adda247.com/d/XhqWf9lSap
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Q.72 Which of the following statements is true when saving an MS PowerPoint presentation
using the 'Save As' feature?

Ans A. You can only use the 'Save As' feature if the presentation has never been saved

before.

B. The 'Save As' feature allows you to save the presentation in a different location or

with a different name.

C. The 'Save As' feature automatically saves the file with the current date and time.

D. You can only save the file in the .pptx format.

Question Type : MCQ

Question ID : 6306801049164

Option 1 ID : 6306804118809

Option 2 ID : 6306804118807

Option 3 ID : 6306804118808

Option 4 ID : 6306804118806

Status : Answered

Chosen Option : D

Marks : -0.25

Q.73 Which group of computer peripherals facilitates user interaction by enabling the input of
data or commands into the computer system?

Ans A. Storage devices

B. Output devices

C. Processing devices

D. Input devices

Question Type : MCQ

Question ID : 630680767892

Option 1 ID : 6306803009832

Option 2 ID : 6306803009830

Option 3 ID : 6306803009829

Option 4 ID : 6306803009831

Status : Answered

Chosen Option : D

Marks : 1

Q.74 The contents of the active cell are displayed in:

Ans A. Name Box

B. Formula Bar

C. Title Bar

D. Cell Range

Question Type : MCQ

Question ID : 630680787895

Option 1 ID : 6306803087379

Option 2 ID : 6306803087377

Option 3 ID : 6306803087378

Option 4 ID : 6306803087376

Status : Answered

Chosen Option : C

Marks : -0.25

https://applink.adda247.com/d/XhqWf9lSap
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Q.75 Which of the following is the correct method to save a workbook in MS Excel for the fi rst
time?

Ans A. Click on 'File' > 'Save As' > Choose location > Enter file name > Click on 'Save'

B. Click on 'File' > 'Open'

C. Click on 'File' > 'Print'

D. Press 'Ctrl + P'

Question Type : MCQ

Question ID : 6306801052121

Option 1 ID : 6306804130839

Option 2 ID : 6306804130837

Option 3 ID : 6306804130840

Option 4 ID : 6306804130838

Status : Answered

Chosen Option : A

Marks : 1

Q.76 What does the Performance tab in the Windows Task Manager do?

Ans A. Gives details about currently running applications and processes

B. Gives details about startup programs and their impact on system boot time

C. Gives real-time data on the usage of system resources

D. Gives the history of application usage and resource graph

Question Type : MCQ

Question ID : 630680751494

Option 1 ID : 6306802945406

Option 2 ID : 6306802945409

Option 3 ID : 6306802945407

Option 4 ID : 6306802945408

Status : Answered

Chosen Option : B

Marks : -0.25

Q.77 Which of the following Windows utilities is primarily used for managing system startup
processes, including the ability to enable or disable startup programs?

Ans A. Disk Management

B. Task Manager

C. MSConfig

D. Device Manager

Question Type : MCQ

Question ID : 6306801058272

Option 1 ID : 6306804155471

Option 2 ID : 6306804155470

Option 3 ID : 6306804155472

Option 4 ID : 6306804155473

Status : Answered

Chosen Option : C

Marks : 1

https://applink.adda247.com/d/XhqWf9lSap
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Q.78 What does 'Gutter' refer to in the Page Setup settings of the Microsoft Word Processor?

Ans A. Page orientation

B. Page type

C. Page preview

D. Page margin

Question Type : MCQ

Question ID : 630680764120

Option 1 ID : 6306802995039

Option 2 ID : 6306802995040

Option 3 ID : 6306802995042

Option 4 ID : 6306802995041

Status : Answered

Chosen Option : B

Marks : -0.25

Q.79 In MS Word, from which of the following tabs can a user change the font and font size of the
text?

Ans A. Insert Tab

B. References Tab

C. Home Tab

D. Review Tab

Question Type : MCQ

Question ID : 6306801052630

Option 1 ID : 6306804132984

Option 2 ID : 6306804132987

Option 3 ID : 6306804132985

Option 4 ID : 6306804132986

Status : Answered

Chosen Option : C

Marks : 1

Q.80 What is the purpose of the 'Slide Show' tab in MS PowerPoint?

Ans A. To add animations to text and objects

B. To view and present the slides in full-screen mode

C. To insert images and videos

D. To change the layout of a slide

Question Type : MCQ

Question ID : 6306801049175

Option 1 ID : 6306804118858

Option 2 ID : 6306804118860

Option 3 ID : 6306804118859

Option 4 ID : 6306804118861

Status : Answered

Chosen Option : B

Marks : 1
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